
Geometry (G.CO.9)        Name: ___________________________ 

Unit One B – Proofs with Parallels #5 (HW29)     Date: _____________ Period: ________ 

  Your Work:       Corrected Work: 

1. Refer to the diagram. Fill in the reason for the statement.   

2.   

3. Use the figure to the right find: 
                             
                                        

 
 

 

a. 

 

b. 

 

 

c. 

 

 

d. 

 

 

Alt int ∠’s ≅ → ∥ lines 

Alt ext ∠’s ≅ → ∥ lines 

Corr ∠’s ≅ → ∥ lines 

s-s int ∠’s supp → ∥ lines 

Not ∥ → need s-s ext ∠’s to be 

supp to be∥not ≅  𝑡𝑜 𝑏𝑒 ∥  

3x + 14 = 9x + 14 

3x = 9x 

x = 0 

 

70° 

 
55° 

 
Exterior ∠ 

 

(not super important) 

 



4. Given: 𝐷𝐴̅̅ ̅̅ ∥ 𝐵𝐶̅̅ ̅̅ ; ∠𝐴 ≅ ∠𝐸 
    Prove: ∆𝐶𝐵𝐸 is isosceles with base 𝐵𝐸̅̅ ̅̅  
 
                  Statements                                                             Reasons                                     _  
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

5. Given: 𝐷𝐶̅̅ ̅̅ ∥ 𝐴𝐸̅̅ ̅̅ ; ∠𝐴 ≅ ∠𝐷𝐶𝐵 
    Prove: 𝐷𝐴̅̅ ̅̅ ∥ 𝐵𝐶̅̅ ̅̅  
 
                  Statements                                                             Reasons                                     _  
 
 
 
 
 
 
 
 
 
 
 
 

 

6. Factor:  𝑥2 − 10𝑥 − 24  

7. Solve: 𝑥2 − 3𝑥 + 2 = 0  

 

1.  𝐷𝐴̅̅ ̅̅ ∥ 𝐵𝐶̅̅ ̅̅  1.  Given 

3.  Given 

2.  ∥ lines→corr ∠’s ≅ 2.   ∠𝐴 ≅ ∠𝐶𝐵𝐸 

 3.  ∠𝐴 ≅ ∠𝐸 

4.  ∠𝐶𝐵𝐸 ≅ ∠𝐸 4.  Transitive prop (2,3) 

5. ∆𝐶𝐵𝐸 is isosceles 

with base 𝐵𝐸̅̅ ̅̅   

 

5.  def of isosceles Δ 

1.  𝐷𝐶̅̅ ̅̅ ∥ 𝐴𝐸̅̅ ̅̅  1.  Given 

3.  Given 

2.  ∥ lines→alt int ∠’s ≅ 2.   ∠𝐷𝐶𝐵 ≅ ∠𝐶𝐵𝐸 

 3.  ∠𝐴 ≅ ∠𝐷𝐶𝐵 

4.  ∠𝐴 ≅ ∠𝐶𝐵𝐸 4.  Transitive prop (2,3) 

5.  𝐷𝐴̅̅ ̅̅ ∥ 𝐵𝐶̅̅ ̅̅  5.  corr ∠’s ≅ → ∥ lines 

(x - 12)(x + 2)  

(x -2)(x - 1) = 0 

x = 2, x = 1 


